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% R & |— RO |BHHEOIDO| H R B —ROLO|FHEOLD| B R F BERTE T ERBELT & 8 & x| K EX
5 15 5 15 15 15 15 15 5 15 15 15 15
LR | e 8, 626 39 0 8, 665 297 38 1 68 815 1,219 9,884 16 0
5 & 2, 451 1 0 2,452 10 24 0 3 19 176 2,628 6 0
il = F 2,455 32 0 2,481 21 60 0 10 169 260 2,741 6 0
= B 3, 553 0 3, 553 11 65 0 11 132 219 3, 832 9 0
¥ H 2,238 5 0 2,243 43 11 0 3 88 145 2,388 3 0
W w2 2,202 0 2,208 10 14 0 9 138 231 2,439 3 0
a8 =5 3, 546 0 0 3, 546 100 30 3 11 206 350 3, 896 1 0
] 16, 445 44 0 16, 489 375 204 3 47 812 1,441 17,930 34 0
Ok 4,714 11 0 4,725 16 20 1 5 293 401 5 126 5 0
B W K 3,028 16 0 3,044 169 46 0 133 350 3,394 0
] "B 2, 969 1 4 2,980 16 93 0 1 173 309 3,289 6 0
wE 1,850 25 0 1,815 53 94 4 26 316 453 8,328 10 0
5] S 4,489 2 0 4, 491 171 17 47 11 280 532 5,023 0
i &k % 3, 638 0 3,638 266 " 17 39 202 995 4,233 0
&t 26, 688 61 4 26, 7153 817 261 15 90 1,397 2, 640 29, 393 37 0
FE 1, 601 80 0 1, 681 89 o4 23 24 197 387 8, 068 13 0
X R = 15, 581 147 10 15,738 260 142 12 360 1,988 2,762 18, 500 45 0
EEIN 8,129 111 0 8, 840 11 39 1 43 940 700 9,540 10 0
= S 1,763 0 3 1,766 236 0 3 9 29 271 2,043 3 0
&t 33,674 338 13 34,025 662 235 39 436 2,754 4,126 38, 151 " 0
= W 1,869 0 0 1,869 83 0 0 6 247 336 2,205 0
®= a 1,829 2 0 1,831 150 0 0 8 248 406 2,231 5 0
R B FF 1, 406 0 0 1, 406 97 0 0 8 190 295 1, 701 0
A 5 104 2 0 9, 106 330 0 0 22 685 1,037 6, 143 14 0
Ik B 2,829 6 0 2,835 105 98 3 10 366 942 3,371 3 0
% 7 [ 4,130 2 0 4,732 131 11 6 489 637 5,369 9 0
=] Z N 1,681 0 0 1, 681 157 6 2 19 1, 261 1,445 9,126 31 0
2 = E 2,429 2 0 2,431 61 0 3 324 390 2,821 3 0
B 17, 669 10 0 17,679 454 66 16 38 2,440 3,014 20, 693 46 0
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% R & |— RO |BHHEOIDO| H R B —ROLO|FHEOLD| B R F BERTE T ERBELT & 8 & x| K EX
5 15 5 15 15 15 15 15 5 15 15 15 15
# B 1,848 0 4 1,852 42 8 2 4 144 200 2,052 3 0
X R AR 3, 111 0 0 3, 111 69 0 1 23 335 428 4,139 13 0
X 10, 680 1 0 10, 681 145 9 1 66 1,280 , 501 12,182 31 0
& 1,139 2 0 1,141 192 11 0 29 128 960 8, 701 25 0
=R 2,140 0 0 2,140 61 0 2 5 109 171 2,311 3 0
57 L 2,134 0 0 2,134 103 0 0 15 250 368 2,502 5 0
] 28, 252 3 4 28, 259 612 28 6 142 2,846 , 634 31, 893 80 0
5 W 1,124 0 0 1,124 57 0 0 3 17 11 1, 201 0 0
I 5 1R 1,604 0 0 1,604 47 0 0 0 110 157 1,761 5 0
i N 3,370 0 0 3,370 13 1 0 6 320 400 3,710 6 0
5 5 4,485 2 0 4,481 80 0 2 4 352 438 4,925 11 0
= A 2,576 1 0 2,571 60 2 0 6 139 207 2,784 5 0
B 13,159 3 0 13, 162 317 3 2 19 938 , 219 14, 441 2] 0
&5 1,536 0 0 1,536 38 0 3 4 16 121 1,657 5 0
= Z 1, 664 0 0 1, 664 59 0 0 12 0 " 1,735 8 0
IR 2,654 0 0 2,654 68 0 4 6 100 178 2,832 5 0
1 = A 1, 641 0 0 1, 641 34 1 0 2 137 174 1,815 5 0
E 1,495 0 0 1,495 199 1 1 24 313 544 8,039 23 0
& fdl 6,519 0 0 6,519 130 0 6 41 683 860 1,319 12 0
= &t &' 1,288 0 0 1,288 23 0 1 3 173 200 1,488 2 0
fi] & B 2,498 0 0 2,498 13 0 2 6 261 342 2,840 3 0
] 10, 305 0 0 10, 305 226 0 9 90 1,117 , 402 11,707 17 0
BE K 2,129 8 0 2,131 32 12 0 10 305 419 3, 156 3 0
A& ) 1,880 4 0 1, 884 91 11 1 6 307 416 2,300 5 0
= I 1,692 12 0 1,704 11 o4 0 1 260 332 2,036 3 0
Z:S RS 3,222 46 0 3,268 67 99 0 2] 343 492 3, 760 3 0
&t 9,523 10 0 9,593 201 192 1 90 1,215 , 659 11,252 14 0
PR | P AR 2,091 2 0 2,093 235 0 0 20 0 255 2,348 4 0
2 179, 031 572 21 179, 624 4,725 1,028 159 1,006 15, 332 22,250 201,874 383 0




